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                                                   Holiday Homework 

Class: XII                                                                                              Subject: Mathematics 

    
 Inverse Trigonometric functions : 

 1.  Prove that  2 sin−ଵ 𝜃 =   sin−ଵ[ʹ𝜃√ͳ −  𝜃ଶ].                                                                       ( 4 Marks ) 

 2.  Write  tan−ଵ √ଵ − c୭s ଷ𝑥ଵ +  c୭s ଷ𝑥  in the simplest form                                                                        ( 4 Marks ) 

     Ans :  
ଷ𝑥ଶ . 

 3.  Solve  sin−ଵ + ݔ   sin−ଵ = ݔʹ   𝜋ଷ.                                                                                         ( 4 Marks ) 

     Ans:  x  =  
√ଷଶ√଻. 

 4.  Show that sin−ଵ ଷହ −  sin−ଵ ଵ଼଻ =  cos−ଵ ଼ସ଼ହ .                                                                            ( 4 Marks ) 

 5.  Show that sin−ଵ ଵଶଵଷ +  cos−ଵ ସହ + tan−ଵ ଺ଷଵ଺ =  𝜋 .                                                                   ( 4 Marks ) 

 6.  Prove that cot−ଵ ቀ √ଵ+ si୬ 𝑥 + √ଵ − si୬ 𝑥  √ଵ+ si୬ 𝑥 − √ଵ − si୬ 𝑥 ቁ =  𝑥ଶ  , ∋ ݔ  ቀͲ , 𝜋ସቁ.                                                  ( 4 Marks ) 

 7.  Prove that tan−ଵ ቀ  √ଵ+𝑥 − √ଵ−𝑥√ଵ+𝑥  +  √ଵ−𝑥ቁ =  𝜋ସ −  ଵଶ  cos−ଵ , ݔ − ଵ√ଶ  ≤ ≥ ݔ ͳ .                                  ( 4 Marks )     

 Matrices : 

 8.  If  A  = [ ͳ ͵ ͷ− ʹ ͷ ͹]   and  2A ‒ 3B  =  [Ͷ ͷ − ͻͳ ʹ ͵ ],  then find  B.                                  ( 4 Marks ) 

     Ans:  B  =  
ଵଷ   [− ʹ ͳ ͳͻ− ͷ ͺ ͳͳ]. 

 

 9.  Find x,  if  [ݔ ͳ] [ ͳ Ͳ− ʹ [ݔ͵] [͵ −  =  𝑂.                                                                             ( 4 Marks ) 

     Ans:  x  =  ͳ ±  √ͳͲ.                 
 

10. If A =  [− ͳʹ͵ ],   B  =  [− ʹ − ͳ − Ͷ],  verify that  ሺܤܣሻ′  =  ( Marks 4 )                                  .′ܣ′ܤ  

11. Express the matrix  B = [ ʹ − ʹ − Ͷ− ͳ ͵ Ͷͳ − ʹ − ͵] as the sum of a symmetric and a skew symmetric matrix.   

Determinants :   

12. Compute A
‒ 1

 for  the matrix  A  =  [ʹ ͵ͷ − ʹ]  and show that  A
‒ 1

  =  
ଵଵଽ A.                        ( 4 Marks ) 

13. Using the properties of determinants,  prove that  

ݕ|               + ݖ ݔ ݖݕ + ݔ ݖ ݔݔ + ݕ ݕ |ݖ  =   ሺ ݔ + ݕ + ݔሻሺ ݖ −  ሻଶ.                                                                  ( 4 Marks )ݖ

14. Using the properties of determinants, prove that  | ͳ ݔ ଶݔଶݔ ͳ ݔݔ ଶݔ ͳ | =  ሺͳ  ଷሻଶ .                ( 4 Marks )ݔ −

Note : Learn the Differentiation formulae which I sent to your tabs as Audio Video Lecturer. 


